
N = 241
241 circles in an isosceles right triangle

radius =   0.023489510803
ratio  =  42.572193537016

density  = 0.835496923936
contacts = 559

 E.SPECHT &
D.A.PATERSON
27-OCT-2010

N = 242
242 circles in an isosceles right triangle

radius =   0.023449691073
ratio  =  42.644485033535

density  = 0.836121682288
contacts = 546
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N = 243
243 circles in an isosceles right triangle

radius =   0.023402793569
ratio  =  42.729941494350

density  = 0.836221916159
contacts = 552
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N = 244
244 circles in an isosceles right triangle

radius =   0.023361701426
ratio  =  42.805101467476

density  = 0.836717077291
contacts = 574
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N = 245
245 circles in an isosceles right triangle

radius =   0.023309894998
ratio  =  42.900236148650

density  = 0.836424195129
contacts = 561
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N = 246
246 circles in an isosceles right triangle

radius =   0.023260295186
ratio  =  42.991715797959

density  = 0.836267885353
contacts = 480
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N = 247
247 circles in an isosceles right triangle

radius =   0.023220619523
ratio  =  43.065173133110

density  = 0.836805308420
contacts = 584
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N = 248
248 circles in an isosceles right triangle

radius =   0.023168220062
ratio  =  43.162573444701

density  = 0.836405516411
contacts = 545
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N = 249
249 circles in an isosceles right triangle

radius =   0.023128949876
ratio  =  43.235858323339

density  = 0.836933680349
contacts = 578
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N = 250
250 circles in an isosceles right triangle

radius =   0.023079967224
ratio  =  43.327617855044

density  = 0.836739463954
contacts = 570
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N = 251
251 circles in an isosceles right triangle

radius =   0.023035567155
ratio  =  43.411129982405

density  = 0.836857299617
contacts = 542
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N = 252
252 circles in an isosceles right triangle

radius =   0.022990008319
ratio  =  43.497156944223

density  = 0.836871284072
contacts = 579
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